
2q mvgwqK cixÿvi djvdj 1443 wnRix 

gvÕnv`yj eyûwmj Bmjvwgqv 
ewmjv Mv‡W©b wmwU, gynv¤§v`cyi, XvKv-1207  

wefvM : bv‡hiv 
µ. QvÎ‡`i bvg n`i I ZvRex` A¼ mgwó Mo cÖvß wefvM †gav ZvwjKv 

m‡e©v”P b¤^i 95 100 193    

1 Rvwn`yj nvmvb 75 39 114 57 Rvwq¨`  
2 wmqvg Avngv` 72 40 112 56 Rvwq¨`  
3 Iqvjx Djøvn 80 45 125 62.5 Rvwq¨`  
4 hyjKvibvBb gyÕAvh 90 88 178 89 gygZvh 3q 
5 Avãyj KvBq~g 95 35 130 65 Rv.wR  
6 byÕgvb Avngv` 95 95 190 95 gygZvh 2q (K) 
7 Avãyj Avnv` 88 43 131 65.5 Rv.wR  
8 gynv¤§v` wihIqvb 84 52 136 68 Rv.wR  
9 gynv¤§v` Dmgvb 82 52 134 67 Rv.wR  
10 Avngv` kdx 94 35 129 64.5 Rvwq¨`  
11 bvCgyj nvmvb  93 100 193 96.5 gygZvh 1g 
12 RybvB` ûmvBb bvwdm 85 54 139 69.5 Rv.wR  
13 gynv¤§v` Avj-Avgxb 75 74 149 74.5 Rv.wR  
14 Rvjxm gvng~` 80 62 142 71 Rv.wR  
15 Avãyi ingvb 88 84 172 86 gygZvh  
16 Avnbvd RvIqv` 77 93 170 85 gygZvh  
17 dvnxg Zvjnv 87 25 112 56 Rvwq¨`  
18 BmgvCj ûmvBb 82 18 100 50 Rvwq¨`  
19 knx`yj Bmjvg 90 100 190 95 gygZvh 2q (K) 
20 RyjKvibvBb 89 20 109 54.5 Rvwq¨`  

`dZ‡i ZvÕjxgvZ 

gvb eÈb: 
†gvU b¤^i  :  1002 = 900 
gygZvR  :  802 = 160 
Rvwq¨` wRÏvb  : 652 = 130 
Rvwq¨`  :  502 = 100 
gKe~j  :  352 = 70 
 


